AQA MATHS ENTRY 2 COMPONENT 3: RATIO
LO: To work out amounts two, three or four times the size of a given amount
1. A packet of biscuits can 35p. How much will 3 packets cost?
2. One loaf of bread has 22 slices. How many slices are there in 4 loaves?
3. Jane has 45cm of ribbon. Kelly has double. How much ribbon does Kelly have?
4. Rob spends 47p on a chocolate bar. He decides to buy 3 more. How much money does he need?
5. Q2 have 73 books but they need 4 times this amount for the rest of the year. How many books do they need?
6. A squirrel collects 62 nuts and puts them in a tree. How many nuts will 4 squirrels collect?
7. There are 55 pupils on a bus. How many pupils will there be on 3 buses?
8.  A can of lemonade holds 330ml of lemonade. How many millilitres will 3 cans hold?
9. Lisa has 71 stickers and Ben has double. How many stickers does Ben have?
10.There are 1250 Lego pieces in a bag. Liam has double this amount. How many pieces of Lego dies Liam have?

